== A
N & o & AF & H Al A
20178 & =0l &k L B3I A Al
A EAA
M FAUZET A=A &2
SRl ASIRSER MHIA WS EERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
S N 9,750,383 9,127,323 623,060
= 89,621
Xl 204,148
J| 2,670,178
Al 1,874,337
- 4,912,099
JAUEET AIZISEH &2 381,614 378,571 3,043
Al 375,854
- 5,760
MIBSEHE MElA W3 381,614 378,571 3,043
Al 375,854
- 5,760
HAMZAEEIAMSEHANE 2 381,614 378,571 3,043
Al 375,854
- 5,760
307 21201 A 381,614 378,571 3,043
Al 375,854
- 5,760
10 M2 SXNANEEHE2IHEX 381,614 378,571 3,043
OAMIISAHAE 2| 370,094,000 370,094
Al 370,094
OMSIEHANEEANNEESZ 11,520,000& 11,520
Al 5,760
- 5,760
A= 24252 6,086,903 5,585,523 501,380
= 89,621
X 204,148
| 2,490,296
Al 1,408,542
- 1,894,296
A0z MHIA XIJALS 236,565 218,343 18,222
EAIZ R ALY 38,947 40,915 A 1,968
201 LBt 6,280 5,848 432
01 At 22l 6,280 5,848 432
Oger==gH| 2,896
- HESHUIGLER
2,500 3 +70kg « 122 «80%< & 2> 1,680
—MESYUAUSH LN TY
28,0003 *40==+80%<Z 2> 896
— M XER 1,000& *2007H *80%<& 2> 160
— H=X2lyl 40,000& *43] 160
O= &l 3,024
~ BAANRALEASTAY
7,000 9021 x60 L +80%< & 2> 3,024
Oogxz 360
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A EAA
HE: NFY ALEA
Chel: BAHS MHIA XJAY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—AEJcogge e
10,0003 =3CH«12& 360
202 O4dl 9,467 9,467 0
01 = LH 4 Hi 9,467 9,467 0
OEAHIZ RN =A0HI
20,0003 901 «57 L +80%<E 2> 8,208
OEHYZ HHIATIAZF=A 0L
87,4003 30! +3 »23] 80%< & 2> 1,259
203 YR =&l 1,600 1,600 0
03 AIMF=XH R =AH| 1,600 1,600 0
ORAANMZHL S XX
2,000,000& »80%<E &> 1,600
204 MR I 21,000 24,000 A 3,000
03 EZ YR 21,000 24,000 A 3,000
ot gsdl(620I0t) 50,0003 #3521 «12& 21,000
405 RHoHE S HI 600 0 600
01 AL EZFH S 600 0 600
OZ=MBRSI Y 600,000 «1CH 600
AN Y 232 22 149,680 141,401 8,279
101 14l 16,150 15,051 1,099
4 D12t ZE2EXNEES 16,150 15,051 1,099
OFALE AR BUHEHSTSLE)
51,7603 #3021 x 130! x80%< & 2> 16,150
201 L2l 79,734 81,700 A 1,966
01 At 22l 9,758 10,523 AT65
Oget=&H| 8,198
—dJ|er e 2 110,000& = 12& 1,320
SOHHIANAEAIE =S
100,000 3 A +12& 3,600
— AL HRNEFES 190,580 4= Dl 763
—dgxELE 500,000& x13] 500
—SBUAEF 2N LY 50,6002 *5IH*x80%<E 2> 203
—HFABEDY
30,000 *40H 2 122 «80%<E 28> 1,152
— DAL E LA+ 300,000 +23 600
— Dt Z M= 60,000& *13] 60
Ogxtz 1,560
- R RIN = 35,0003 *x2CH 128 840
— StEAHIUE = 20,0003 30 128 720
02 =224l 69,976 71,177 A 1,201
O=3232<HA 35,643
—dIIRa 2,000,000& x12& 24,000
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A EAA
B (AE0 AYEH
Chel: BAHS MHIA XJAY (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—HGt=ER2= 220,000& »12& 2,640
—REYSAER 8,800 *33| & +12& 317
—RER= 400,000 x12& 4,800
—HIESSPCAHUWAIZEZE  22,000& 201 +123 528
— XS Al 458
HESEX 280,000& x1CH*13] 280
- AESE 27,0003 201 13 54
- AESE 59,0003 x1CH 13 59
-AESE(VEHEEA)
65,0003 x1CH* 13 65
—ANsHEE = 2,300
HESEX 500,000 = 1CH 500
L8 E 300, 000& »2CH 600
HEHA 700,000 = 1CH 700
L2EESE 500,000 = 1CH 500
— ASOHYIH (LS - AYBURAN)
100,000 121 % 13| 100
—dIIEHIEIIZ MR 500,000& x13] 500
SL=EX] 13,262
— HAE(ZAIILA)
9613 +15m «BAl 2tx115L 13,262
OAIE ZHI S X 8,555
— A== X4l 6,795
BAMS(26E X D)
4,030 *1,396.59m’ 5,629
BALX25(15H0I6H)  2,5033*449.64m 1,166
— S 1,000,000 * 1A x80%< & 2> 800
— ASANLEHH SR A2
1,200,000 * 1A x80%< & 2> 960
O Xt 12,516
—HESEX 3,290,000 » 1CH »90%< & 2> 2,961
—A28sd 2,704,000& » 1CH»x90%< & 2> 2,434
—AE3ES 2,605,000 »2CH x90%< & 2> 4,689
—yEseA 2,702,0003 » 1CH»90%< & 2> 2,432
307 21201 A 41,196 39,650 1,546
05 BIZERIE 3 41,196 39,650 1,546
OFANFELZUES(BHA BAX LA, A2 ST
HE) 41,196,000 41,196
401 Al HI L 2 THHI 2,000 0 2,000
01 A& Bl 2,000 0 2,000
OBAA25(E&)NS24 X 2,000,000 *14] 2,000
405 XHoHF S HI 10,600 5,000 5,600
01 et ESFH S 10,600 5,000 5,600
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A EAA
B (AE0 AYEH
Chel: BAHS MHIA XJAY (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O e8| 1,860
~ DREHEUUNREEDY
550,000 x80%<& 2> 440
—HIBLUERES 15,000 x182+123 180
—BHUNSYIANHLS 2
350,000& »80%<& 2> 280
—HEEUGE P
1,000,000& »80%<&E 2> 800
—EA2857¢Y 200,000 & *80%<& 2> 160
o=zg=¢ 1,540
-~ REPANRASAO S B ALY
70,0003 x1121+23] 1,540
SR 280
~ HERAN2AAREFZ A
7,000 * 12«50 »80%< & 2> 280
02 =224l 9,557 9,557 0
O=2Z223LHA 4,559
—dIRea 220,000& »12& 2,640
—&otrER=a 43,000& ~x12& 516
—sHes 30,000& 128 360
—TVdlE 7,700&x12& 93
— NS XHA 300,000& *1CH*13] 300
- NSHEE = 400,000 = 1CH 400
— QS ANDEEE 250,000& x13] 250
OAIE ZHI S X 800
— o= &= Xbl 1,000,000& »80%<&E 2> 800
O Xt 4,198
— XE XAl 5,247,000 1 CH*80%< & 2> 4,198
202 odl 420 420 0
01 = LH o4 1l 420 420 0
ORELANZAALET Y|
87,4003 #1291 x3 x23| x80%<E 2> 420
206 M =4l 424 424 0
01 MHZ 4l 424 424 0
OBsSEHINZAARE 424
—ghAg 16,5003 * 104} RH+80%<E 2> 132
— ZSdIAHEAE 44,0002 *64f X x80%<E 2> 212
— Al 25,0003 =444 TH+80%<E 2> 80
307 glz2+ol & 9,600 8,000 1,600
01 2L =4l 9,600 8,000 1,600
Oggsss+Y 12,000,000 & »80%<& &> 9,600
Ol - oJoF At 248,271 196,176 52,095
= 25,665
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A EAA
M XAEQ AYEH
SOl O - oo AR EEREED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Pl 22,6527
Al 21,022
- 179,057
gtAASAIS 168,504 144,590 23,914
101 124 H| 42,108 39,092 3,016
04 JI2ZtHIZ2 2 NEES 42,108 39,092 3,016
OYAASARUGUHEHESEE)
51,7603 x501 x200 L *80%< & 2+> 41,408
O3 a = (HHE24E) 700,000 700
201 et | 3,648 3,168 480
01 AP 2t 2] d| 2,688 2,592 96
O3 2,688
LS ]
7,000 #4001 x 120 #80%< & 2> 2,688
02 =224 4| 960 576 384
OA & &Hl XYl 960
— StA A H| S X HI 200,000 *6CH *80%< & 2> 960
206 M 2 Hl 42,924 33,893 9,031
01 M =4l 42,924 33,893 9,031
ogeEssMt 10,004
— 3 1,431 %650 70 x80%< & 2> 5,209
-3 1,00321%702 *702 +B0%<E 24> 4,795
OgeiorZ et 29,920
—goloETyY
35,000 x4 *130L x80%<& 2> 14,560
— S AR R Y 3,000 *804 *B0Y *80%<E 2> 15,360
OXUEXSERL 5,000 x600< 3,000
307 QI2t0| & 79,824 68,437 11,387
05 QIZtRES 79,824 68,437 11,387
OgtE AS Y| 93,910 *852 x 100 & X 79,824
TRUGHIT 2 2AIALY 5,330 4,130 1,200
= 2,665
Al 1,332
- 1,333
201 et 9| 1,250 1,250 0
= 625
Al 312
- 313
01 AFR 2t 2| H| 1,250 1,250 0
Ogbt4=2d| 1,250
— FRUIHI2LZANAIE2HH|
1,250,000 1,250
= 625
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A EAA
M X AED ALEX
SOl O - oo AR EEREED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 312
T 313
301 et d = 4,080 2,880 1,200
= 2,040
Al 1,020
- 1,020
NJIEEd=s 4,080 2,880 1,200
OFzZggEsZAdzlla2g8 X
4,080,000& 4,080
= 2,040
Al 1,020
T 1,020
ZEHUE R AAAMR 9,220 8,640 580
201 ¢er24| 4,180 3,600 580
01 At 22l 4,180 3,600 580
Oget==EH| 2,220
—ZEEEE=MH
2,000& *1, 20000 x80%< & 2> 1,920
— OFQIBAIAE R R BOIO| AL AT
150, 000 *2JH 300
O= &l 1,960
— Yo% REA S Y|
7,000 +521 x70L «80%< & 2> 1,960
202 04l 5,040 5,040 0
01 = LH 4 Hi 5,040 5,040 0
O EEERE S II]
20,0003 5021 «63 2 +B0%<E 2> 5,040
0l Ol =& Xt & = I 32,660 18,204 14,456
J| 16,330
Al 16,330
307 21201 A 32,660 18,204 14,456
J| 16,330
Al 16,330
01 92724l 32,660 18,204 14,456
oolol =& Xt&l Z i 32,660,000 32,660
J| 16,330
Al 16,330
StAIQITIIGH AL Lo At MEXE=S X2 AHE 21,600 12,600 9,000
= 21,600
301 et d s 21,600 12,600 9,000
= 21,600
01 MI2EZE +06l= 21,600 12,600 9,000
Ostdl NI At A Tl At M & X & S X =
150,000& #1221 1200 & 21,600
= 21,600
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CEPS
NE==g A5
ol - 2fer Ared
= - - SHE|
SN FHE - B(SA) - MEAY - BHES e
ZEEM LS 3,437 3,492
| 3,437
201 L2 | 3,437 3,492
J| 3,437
01 At 22l 3,437 3,492
O/ n=H| 3,437
—LYYEHLSIN DR 3,437,0008 3,437
| 3,437
MEHAUHHIHS S 22 SHALY 5,520 2,520
J| 2,760
Al 2,760
201 LEr2 Y| 3,000 0
| 1,500
Al 1,500
01 At 22/l 3,000 0
Oget==EH| 3,000
— MEH AL ES B3I 3,000,000& 3,000
J| 1,500
Al 1,500
301 L2 AF 2,520 2,520
| 1,260
Al 1,260
MIIEE4d3 2,520 2,520
OSZAUSEZZAMA2GHI XA
2,520,000& 2,520
| 1,260
Al 1,260
2 T B AN 2,000 2,000
= 1,400
Al 600
201 2yt 2 Y| 2,000 2,000
= 1,400
Al 600
01 At 22l 2,000 2,000
OB+t 2,000
— Moz MdEEES Y 1,500, 000& 1,500
= 1,050
Al 450
— Mol W=l 500,000& 500
= 350
Al 150
LS ALY 498,382 481,648
J| 246,839
Al 123,419
- 128,124
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A EHA
M (AT ALEX
CHelr ALSHAY (el @2)
SN EB S (3H) - NBAY - B2 ol &k o8 ﬁlf& HD=2
K EAIE] SSAHUZSTAIG (BEX) 120,728 100,594 20,134
J| 60,364
Al 30,182
- 30,182
101 2124 d| 75,964 49,976 25,988
Dl 37,982
Al 18,991
- 18,991
04 JIZtHI2E2XNSE S 75,964 49,976 25,988
OJIZtMZ2Z A2 (58 =S EE)
75,964,000& 75,964
J| 37,982
Al 18,991
- 18,991
201 Bt 49 ]| 32,764 38,618 N5,854
J| 16,382
Al 8,191
- 8,191
01 At 22l ] 27,624 33,478 N5,854
Ogst=2H| 25,468
—EEAUSIANYURYEEE
25,468 ,000& 25,468
J| 12,734
Al 6,367
- 6,367
Oexs 456
—HASTHEHELIANEE
38,000 x 1204 & 456
J| 228
Al 114
- 114
osg9=+4Y 1,700
—SEANGEAN I
100, 000& 72l 700
J| 350
Al 175
- 175
— KNEASTHEEH I 2HEALE
100, 000& 501 %x23| 1,000
J| 500
Al 250
- 250
02 2324 5,140 5,140 0
OZ2Z22=22 Al 3,640
— SEAHLASTAL SR = 1,542 ,000& 1,542
J| 771
Al 386
- 385
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A EHA
M (AT ALEX
CHelr ALSHAY (el @2)
SN EB S (3H) - NBAY - B2 ol &k o8 ﬁlf& HD=2
—SESIPAIERE 63,000& x12& 756
J| 378
Al 189
- 189
—REHLSAIEZ 31,000& x12& 372
J| 186
Al 93
- 93
—gXSHAMASH 970,000& 970
J| 485
Al 242
- 243
OAl& ZHI KX Y| 1,500
— S EAHAIE AIE & HI S Xl 1,500, 000& 1,500
J| 750
Al 375
- 375
202 044l 12,000 12,000 0
J| 6,000
Al 3,000
- 3,000
01 2L Y| 12,000 12,000 0
OSEHHLSIAIL S 2= Y|
20,000 « 152 x403] 12,000
J| 6,000
Al 3,000
- 3,000
KNAAS SSHLSTAIE (2Y) 189,200 224,000 A 34,800
J| 94,600
Al 47,300
- 47,300
301 et A= 3,480 6,000 N 2,520
J| 1,740
Al 870
- 870
11 J|EtE A2 3,480 6,000 A2,520
OXNGAMISAMEAS 280
— T AAS 154,000 154
J| 77
Al 38
- 39
— N3 SAAAH 2 A 7,000& x901 23| 126
J| 63
Al 32
- 31
OXI Dol AFAI H| &2 &b 100,000& 191 %32 3,200
J| 1,600
Al 800
- 800
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SHa
Ao 225
AL STAE

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
307 glz2tol & 185,720 218,000 A 32,280
| 92,860
Al 46,430
- 46,430
01 2=2L =4l 185,720 218,000 A 32,280
OSEUHLEIANLAESE 185,720
—S2ASINNTHELAZ 2L
5,600& *1,0003 x10& 56,000
| 28,000
Al 14,000
- 14,000
—&EIITN P 20,000& 2002 4,000
| 2,000
Al 1,000
T 1,000
— XOH=JIBEAS K& 20,000,000& 20,000
| 10,000
Al 5,000
- 5,000
— NSA S THE AL I I+
3,720,000& 3,720
| 1,860
Al 930
- 930
—Z=EL2LWESUH 12,000,000& 12,000
| 6,000
Al 3,000
T 3,000
— GAH L, E2MAA 15,000, 000& 15,000
| 7,500
Al 3,750
- 3,750
— B34 FH 75,000,000& 75,000
| 37,500
Al 18,750
T 18,750
HLASE A 4,704 5,184 A 480
201 €2l 1,344 1,344 0
01 At 22l 1,344 1,344 0
O= &l 1,344
—AYEAALEAS 2
7,000 *3021 x80 L *80%< & 2> 1,344
202 o4dl 3,360 3,840 A 480
01 = LH o4 1l 3,360 3,840 A 480
OHZSTAS O HI
20,0003 321 *70 L x80%<E &> 3,360
SIISHX A A A 183,750 145,700 38,050
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2N BAA
M (AT ALEX
Sel ALSANEY (29 a8)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Il 91,875
Al 45,937
T 45,938
101 124 dl 44,790 24,754 20,036
| 22,395
Al 11,197
T 11,198
0412t Z2XREES 44,790 24,754 20,036
OS3dZeld g2 (bHEEESEE)
1,700,000 121 x12& 20,400
| 10,200
Al 5,100
T 5,100
O=d 3l a At 20,0003 11«55 1,100
J| 550
Al 275
- 275
Oz=dEclY 4 AEE=FIHl 800,000 x1H 800
| 400
Al 200
T 200
OzHEelC4EAHEEZII2RES
190,000& x1Q1x11& 2,090
| 1,045
Al 522
T 523
O3S F X HARABHEEZSEE)
1,700,000& 121 x10& 17,000
| 8,500
Al 4,250
T 4,250
OSSN A N
150,000& 121« 10& 1,500
| 750
Al 375
- 375
OS3HsFX Lo (5HEEEIIZ2RYEZ)
190,000& 121 x10& 1,900
| 950
Al 475
- 475
201 Yot 2 Y| 22,760 33,846 A 11,086
| 11,380
Al 5,690
T 5,690
01 At 22l I 22,410 30,096 AT,686
OZ3gesZFTds2sME 15,760, 000& 15,760
| 7,880
Al 3,940
- 3,940
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A EHA
M (AT ALEX
CHelr ALSHAY (el @2)
SN EB S (3H) - NBAY - B2 ol &k o8 ﬁlf& HD=2
O3ddEoHA2AY| 2,060,000 2,060
J| 1,030
Al 515
- 515
O2UBAXTHRUHYPEI| WA
4,590,000 4,590
J| 2,295
Al 1,148
- 1,147
02 32%H| 350 3,750 AN 3,400
O NN EE S 50,000& 721 350
J| 175
Al 87
- 88
202 04t 3,000 3,000 0
J| 1,500
Al 750
- 750
01 2L Y| 3,000 3,000 0
OS2HXNEEH AL L2=E 0 Y|
20,000& *3Q21 x50 3,000
J| 1,500
Al 750
- 750
301 et A= 60,400 51,100 9,300
J| 30,200
Al 15,100
- 15,100
11 JIEtE A= 60,400 51,100 9,300
O2II2H X &2 AH|
50,0003 x6YH x 14 «12& 50,400
J| 25,200
Al 12,600
- 12,600
O2HHdZI|IEQHMEE 50, 000& *2009! 10,000
J| 5,000
Al 2,500
- 2,500
307 212t0| & 52,800 33,000 19,800
J| 26,400
Al 13,200
- 13,200
01 =L F2=Hl 52,800 33,000 19,800
(OF=g iy el 60,000& *880¢2! 52,800
J| 26,400
Al 13,200
- 13,200
IFEEB2HAAY 3,507,728 3,097,545 410,183
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2N BAA
M (AT ALEX
&2 NHEE2AAY (9 ® =)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 63,956
Xl 204,148
| 1,497,584
Al 829,854
T 912,186
DAoLt AZ2e X2 291,640 210,429 81,211
Xl 204,148
Al 43,746
T 43,746
308 XXM SO0 A 291,640 210,429 81,211
Xl 204,148
Al 43,746
- 43,746
103/ 2SOHUHS A ALS I 291,640 210,429 81,211
OMZ A Mot 2 2t X & 291,640,000& 291,640
Xl 204,148
Al 43,746
- 43,746
L EE 2,430,820 2,240,262 190,558
| 1,215,410
Al 607,705
- 607,705
307 21201 A 2,430,820 2,240,262 190,558
| 1,215,410
Al 607,705
- 607,705
01 2L =4l 2,430,820 2,240,262 190,558
OBHAA%ZEH| 115,220
— A0t EHI 69,620,000& 69,620
| 34,810
Al 17,405
- 17,405
DA = 1,800,000 1,800
| 900
Al 450
T 450
= jull 15,600,000 15,600
| 7,800
Al 3,900
- 3,900
S 28,200,000& 28,200
| 14,100
Al 7,050
T 7,050
E 6,200,000& 6,200
| 3,100
Al 1,550
- 1,550
2 F 2,309,400

- 265 -




A EAA
HE: NFY ALEA
&2 NHEE2AAY CHel & 2 )
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
— A0t &I 1,883,800, 000& 1,883,800
| 941,900
Al 470,950
T 470,950
— Lold & 425,600,000 425,600
| 212,800
Al 106,400
- 106,400
SHLHAIOI &AL & S0t 2] 29,720 29,720 0
| 14,860
Al 7,430
- 7,430
307 gl2tol & 29,720 29,720 0
| 14,860
Al 7,430
- 7,430
01 =LA =4l 29,720 29,720 0
O EHAIOI A Z ALK &0t 2] 29,720,000 29,720
| 14,860
Al 7,430
- 7,430
Ols0t & A3 H0l&0t 2=Hl XA 9,940 75,000 A 65,060
| 4,970
Al 2,485
T 2,485
307 glz2+ol & 9,940 75,000 A 65,060
| 4,970
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—XNHRSZA=E 80,000& x303| 2,400
Al 1,440
- 960
307 21201 A 4,120 4,120 0
Al 2,472
T 1,648
01 922724l 4,120 4,120 0
OXLoXdEZT L (IIMAS)
4,120,000& 4,120
Al 2,472
- 1,648
XXz 2eldl XI& 107,720 43,160 64,560
| 53,860
Al 26,930
T 26,930
308 XXIEHH SOl A 107,720 43,160 64,560
| 53,860
Al 26,930
T 26,930
10 B2 SUHUSBAHHH A 107,720 43,160 64,560
OXIOH Xl = 2eld| X & 107,720,000& 107,720
| 53,860
Al 26,930
- 26,930
HAMEAAS 7,300 7,300 0
201 Let24d] 7,300 7,300 0
01 At 22/l 7,300 7,300 0
ozg=4¢ 7,300
—JZEABH A HRARI E
(== s
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100,000& »321x12& 3,600
Al 1,800
T 1,800
AZSH=Z A MOUHMSIIZEH K& 7,383 7,685 A 302
J| 5,907
Al 739
- 737
308 XX EHSOIA 7,383 7,330 53
J| 5,907
Al 739
- 737
10 SIS0t B & XA A 7,383 7,330 53
OFAAHSYNE &I AL & EHH 7,383
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7,383,000& 7,383
J| 5,907
Al 739
- 737
OlsEAYE FA2AAY 50,000 50,000 0
J| 25,000
Al 25,000
307 21201 A 50,000 50,000 0
J| 25,000
Al 25,000
05 RIZt2IEt = 50,000 50,000 0
OOtsZAFHAMEHAY 50,000,000 «17H £ 50,000
J| 25,000
Al 25,000
NGAM AL A DA 9IS 29 45,584 47,164 A 1,580
J| 22,792
Al 11,396
- 11,396
201 £B-2dH| 500 500 0
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ol AKX R ALY CEEEED
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Jl 250
Al 125
T 125
01 At 22l 500 500 0
Ogt=&H| 500
— NS A2 AL E A2 S HI 500,000& 500
J| 250
Al 125
T 125
307 glz2+ol & 45,084 46,664 A 1,580
| 22,542
Al 11,271
T 11,271
05 RIZtRE = 45,084 46,664 A 1,580
OXSAS A2 T AL2 S HI 45,084,000 45,084
J| 22,542
Al 11,271
- 11,271
g0 LEHZ AL XA 28,258 30, 152 A 1,894
J| 22,606
Al 2,826
- 2,826
308 XtXIEHHSOIA 28,258 30, 152 A 1,894
J| 22,606
Al 2,826
- 2,826
10 SII 2 SOICHEHZ & = 0 & A& I 28,258 30, 152 A 1,894
OYBAS AT (RUALBHBE)
28,258,000 28,258
J| 22,606
Al 2,826
- 2,826
Aol Dl 2tel At 50,000 50,000 0
Al 25,000
- 25,000
307 21201 A 50,000 50,000 0
Al 25,000
T 25,000
05 RIZt2IEt = 50,000 50,000 0
Ot 50,000,000& 50,000
Al 25,000
- 25,000
AL XE A 5,184 4,992 192
201 £B-2%H| 1,344 1,152 192
01 At 22l 1,344 1,152 192
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OAEMXZIN Y (BSX L)
10,000, 000& = 1CH 10,000
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OEXATSE LAY 1,400,000% =1 CH 1,400
BALMZH2AP ALY 191,758 148,833 42,925
J| 95,879
Al 46,360
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J| 15,811
Al 6,324
- 9,487
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J| 15,811
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Al 1,380
- 1,380
— 24Xl 8 Sdl 480,000& 480
J| 240
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J| 720
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SNBSS
HE: FON SNRHBY ZH(SEHYASTAB)
Sol: THBAIM SN (SEBYSSTA) CERED
SN 3H - HA(FAH) - NRAIS - BES Ol &F o4 %Ei Hwsz
AR PN ) 132,000% 122 1584
—FEIIQMBRAU® SR 230,008 128 2,760
—SYINQHBAUBESE 110,008+ 128 1,320
—SUINFINANESE 120,560% *1CH 121
=S ES-T VEE-T-E-PN-P
900,000% *14] 900
osy4+g 9,000
— gy 30,0002 *121 %3002 9,000
02 22| 39,924 39,958 ~34
OBZRILHA 35,975
S -Bll-r=! 2,650,0002! 122 31,800
— ME+ER3 303,0002! 122 3,636
—CABANEYTSHAZHYI
490,400% *13) 491
— AgorFE 3l Y| 48,000%! * 13l 48
SUEETTEY Y 3,949
— AS2TLI(1020151) 1,99181%1,982.96m 3,949
305 & 2 S 22 22 0
I CEE 22 22 0
OBl A0 T2 b & 2 220,0002! *10% 22
401 A& H LSO 42,939 0 42,939
01 Al& I 42,939 0 42,939
OBZENILXNLENN 2L T A
42,939,000 *14! 42,939
405 XHHE S HI 600 4,200 £3,600
01 ML SEHSH] 600 4,200 3,600
ORI HADEHTL 600,0002 %17 600
YH2AAH (ZYSH) 2,132,655 2,085,824 46,831
TEE-TIE-PETEY 2,030,299 1,986,015 44,284
IR TE=PrE=E) 2,030,299 1,986,015 44,284
101 1218 1,962,942 1,916,538 46,404
TIEES 1,705,999 1,671,837 34,162
Oel=(29) 122,871
— o2 (53) 67,495,0002! *12I 67,495
— YA N (72HEY) 45,230,000 19! 45,230
— MM &Y 112,725,000 3% 3,382
—Hne= 112,725,000 *6% 6,764
O=3(339) 1,073,143
— 63 3,731,400 x621 + 128 268,661
-73 3,145,4002 1101« 122 415,193
— 83 2,194,50021 1101 « 122 289,674
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SH: BMsSR
M HEe AR (HYES)
Crol: ol 2oyl (HAs )
SA BB O () - MM - HES il
— 9= 1,847,000 x321 x12& 66,492
— XA bl 1,104,099, 000& *3% 33,128
O&N3 89,429
—d22Y 1,073, 143,000& *1.0/12 89,429
oAt 2%
9,649& x3201 x35A[ 2+ 12& »80%<E 2> 103,747
OFSELE=, 115,004
—EE 27,008
- BH A 40,0003 *0.90+332! x12& 14,256
JIEt 20,0003 *1.61+3321 x12& 12,752
—AdUEsbExsY 16,728
nE=3=ami 422,400 *0.30%3302! x4 3| 16,728
—S0sdg 500,000& x 121123 6,000
—dZ=gotarza(3121) 30,720
253 0 & 130,000& 62!« 12& 9,360
- 20~254 0| et 110,000& »7Q1 x12& 9,240
- 15~20= O] gt 80,000& x121x12& 960
- 10~154 0| gt 60,0003 821123 5,760
- 5~10= 0/ 2t 50,000& 901 x12& 5,400
— g2l 200,000& x101«12& 2,400
—fIgZ2f+E 1,200
AE22+Y(23) 50,0002 201128 1,200
— =A< (162) 24,828
=1 6,074,550 x78%*4 . 1%+ 121« 12& 2,332
6= 3,731,400& x4 . 1%*421 12 7,344
‘72 3,145,400 4 . 1%*721 x 122 10,833
- 82 2,194 5003 x4 1%*421 »12& 4,319
—Jled:EsY 30,000& #2021 x12& 720
—J=3E8250143 30,0003 x101«12& 360
— AU 1,800
3E 0l & 50,0003 x321 123 1,800
A = 3,240
5201 & 30,000& x 121 %123 360
6= 0l 5t 20,0003 1221128 2,880
OFHZ A 130,000 »33¢2!«12& 51,480
OZEF Ol 1,137,222,000& *1/12%120% 113,723
O A I 4| 36,602
— &% (52) 67,495,000 *78%*1/12%13/30 1,902
dotAII (TS 4E)
45,230,000 *84%+*1/12%13/30 1,372
— YU E 1,073, 143,000 *86%*1/12%13/30 33,328
02 JIEH & E == 128,622
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SN BysSE
B AN AAY (BMESH)
THol: QIS (BastaR) (o2 8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
SEE] 103,824
— N2 H LD M (02 /49))
2,100,000& x4 01 x12& 100,800
— H &I 100,800, 000& *3% 3,024
O (A2t EHA D HIOEZ/421) 24,798
—AZ2t=224 5,040& *401 x35A| 2tx12& 8,468
- tExY 40,000& #4091 x12& 1,920
— 3 ZAH| 130, 0003 421 x12& 6,240
— A E X4 105,000 #4091« 12& «35/40 4,410
— L2 4|
2,100,000 #4021 x84%*86%/226 Al 2t *140 Al 2+ 3,760
03 RINHA=2Z2XE 128,321 123,714
OEME2IL Xt B (S 2/400) 128,321
—-J23 1,302,810 401 x12& 62,535
— &2 1,302,810& 421 %400% 20,845
— AZ2tAZ2 2 10,525& x1.5%4 21 x180 Al 2+ 11,367
L PNE=)
10,525& *8A| 2t %401 %20 6,736
i = 30,000& #4021 x12& 1,440
= 3,274
b < Xt 40,0003 *0.90%4021x12& 1,728
J|l et 20,000& *1.61x4021x12& 1,546
==l 130, 0003 421 x12& 6,240
— S| 140,000& x40 x12& 6,720
— @& F0tY| 1,302,810& 4021 x75%*23] 7,817
—AMTHEE Z 134,612,000& *1.0% 1,347
204 X2 =2 A H| 55,080 55,320
02 =282 x4 55,080 55,320
OXSEXH|(35 55,080
=1 250,000& 12l x12& 3,000
— 62 155,000& x601 x 12& 11,160
72 140,000& x 1221 x12& 20,160
— 8~932 105,000& * 15021 x12& 18,900
— LBLA I HI A g) 155,000& x 121 x12& 1,860
307 2I2t0| ™ 12,277 14,157 A 1,880
07 d=X==2 12,277 14,157 A 1,880
OAMZEEEHLINMEAZ 12,276,640& 12,277
Il ZH (Basse) 15,596 14,722 874
Jl2dd(Mssd) 15,596 14,722 874
201 LEt2 Y| 8,836 8,682 154
01 AP 22l Yl 8,836 8,682 154
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